Math 099 - Assignment 1 Name \<e5
August 20, 2018 Score

Show all work to receive full credit. Supply explanations when necessary. This assignment
is worth 5 points. ’

1. Evaluate each expression. You may use a calculator, but think about, and discuss, the
order of the operations.

(a) 3+2-(-5) = 3+ (-l0) = U;

(b) 25x8+7x2 = Q0+ Y = (‘3‘—\_}
() (2-2)—-2-2-[2x(2-2)] = O-9-9- (’&XO> = -Jd-4d =dw

@0:8-(=6) = XN (-6) = |+ () = -0

(e) 2~ 8| = ...Cfm - -
3—9 _Co . L

() 325x7-52x81 = &8.78 = NQ\Qq = (- wf

2. Refer back to each problem above, and state whether your answer is a natural number,
whole number, integer, rational number, or real number.

(a) \w‘regvz
(b) NaTural
(c) \NT‘ESQR_
@ Vyregen
©) | yreque
(f) RAT’(O)JA\.

3. Let x = 2.45. Evaluate 322 — 2z + 5.
3(9.45)% a(a.49) + 5

= 3(6.0035) - 8(axs)+ 5
= /0075 4 v 6 T (/B./079)



